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About the way to ask the number of days which hung by the distance until the opponent and arrival
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HEEER English translations

We would like to know the number of groups and the number of all bows.

24 bows are insufficient when 32 bows are distributed to each group.

Bows can distribute exactly when 30 bows are distributed to each one group.

In order to know an answer, I thought that 32 were reduced to 30.

When insufficient 24 is divided by 2 of difference, it turns out that it distributed
to 12 groups.

Since 30 bows were distributed to 12 groups, the number of all bows turns out to
be 360, multiplying 12 by 30.

Also when it remains, and also when it runs short, an answer can be known by
the same method.

If it hears having measured the way to an enemy and will go 20km in a day, it
will not arrive 104km, but if it will go 28km in a day, it can arrive exactly.

The route until an opponent and the way to know the number of days are same as
a precedent.

It is the same as the method of a precedent.

Answer.
Dais which started 13-day
Distance 273km

A person in charge ; Ikenobe and Ishiwatari
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HEER English translations

Al want to know the number of pairs and the number of all bows.

Which were distributed.
The number of pairs is set to X.

If a bow is distributed to the number of pairs every 32.
It’ll be set that it is insufficient 24.

32Xx—24.. D

If a bow is distributed to the number of pairs every 30.
It'll be set that it can distribute exactly.

30x..@

Since both Mand @express the number of the bow.

32x—24=30x
x=12..Q

@is substituted for @
30%x12=360

This things says that the number of pairs is 12,the number of a bow is 360.
Al'd like to know days and distance until it arrives.

The days which started by the time at arrived are set to X.

When it’ll progress every 20km in a day.

It’s insufficient 104km.
5x+26.. D

If it’ll progress every 28km in a day, it’ll arrive exactly.

7x @

Both @and@express the whole distance.

5x+26=7x
x=13..Q

@is substituted for @

7x13=91

The days which started from this things are 13days.

The whole distance is 364km.

By this book of Japanese mathematics,using a
linear equation,an exgmple,and,the way to sort
the same number from something to have that
exactly was being asked.

The case when it’s the example and is left
overlike it shows that it’s possible to untie by a

way of thinking.
Future’s problem

When translating into English,| have depended on a
teacher and the internet,so I'd like to make sure that you
can do a translation into English only by your power.

It’s a small part in the book of Japanese mathematics,so
this problem that we handled it looks like a problem
Qefore and after this problem and a link.

| EER Egshuandators
| Impressions |

A person in charge ; Otsuka and Ito

It’s mathematical after a modern
translation is done around first,as |
think,| thought the English
translations couldn’t be made a
difficult one, but you might be able
to make use of all merits of a
group,make the pladce where
mutual won’t be done.

The thing to assume a way of
thinking and the example of the old
person was interesting at all and
was able to arrest then life,culture

mathematics from a Kiku

with a way of thinking of the
Buntoushu. /
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